Calculate 35 x 4
Use the place value counters to help you.

Multiplication °

and division B

Hundreds Tens
Name ‘ —

a Complete the multiplication calculation to match
the array.
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X =
9 How many pens in total?
e Here are 4 cards.
=10 | [ x10 | [ x100 | [=100 ,43 ,43 43
Pens Pens Pens

Use two cards to complete the calculations.

25 = 2,500

300 = 30




215 x 7 =

Mr Rose has £2,000
He buys 6 new paintings.
Each painting costs £259

How much money does he have left?

0 Calculate.

5x797 x2

e Complete the missing digits.
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A small bag of sweets contains 15 sweets.
A large bag of sweets contains 7 times as many
sweets.

Max buys 8 small bags and 8 large bags.

How many sweets does he buy in total?




@ Max has 39 apples.
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He puts 3 apples into each bag.
How many bags will he need?
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@ Use the port -whole models to calculate.

85+5= 92 -4 =

2 morks
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1 mark @ Mo uses some triangles to make a square.

He has 22 triangles in total.
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How many full squares can Mo make?

O How many triangles will he have left? O
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1 mark
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Q 696 pens are packed into boxes of 3
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How many boxes are there?

@ The length of 5 identical pencils is 95 cm.
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@ Complete.

3600 + 10 = x 10

95cm

What is the length of 1 pencil?

What is the length of 2 pencils?

@ Complete.

@ Alex puts eggs into boxes of 6.
She has one egg left over.
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Circle the number of eggs Alex could have.

65 66 67/ 68




